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4.3 Principal Inverse Values 1)
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Find the exact principal value in degrees: _E;c\‘ YeF¢ g;“‘_} \w_érl—

1. 9=cosl(—§¥ QL 2. O=sin (‘/—%QI 3. = arcsm(——ﬁ QL
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4. f=cos” ——%Q’IL 5. H:arctanq,g QL 6. O=arcsin(l) onaxis
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7. @=cos”' (1) onads 8. O=sin"'(0) onaxis 9. 6=tan”' (-1) QI
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10. 0= arccos(%j QL 11. @=arcsin(-1) onaxis 12. @=cos™(0) on axis
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Find the exact principle value in radians:

13. x=cot” ( )AQI_
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19. x=sin"'(0) on axis
where doeS Ny=0¢
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22. 2 sec” (—1) onews
secH= 55‘-53

where does s &) = -1°
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14, xzarccos(—%j QL 15. x=tan (_x/l____) [\

00" T

-1 2 H
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20. x=arccos _TJ QL 21. x=sin (—7J QE
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23. x=tan"'(0) pnaxic  24. x=j(it-"l(—1) QL
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where does +an (3)=-12
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26. x=arcsec(2) QL  27. x=csc”' (-1) on axis
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29 x:sin‘l(z) 30. x:arcsec(l %
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